ceating ™9

- J/
/ N\

- /

5.2 Meter Communication Connection

Step 1: Place black seal ring on the green Locker.

Step 2: Put red seal ring into the bottle of body inside.

Step 3: Wire striping.

Step 4: Pass all parts through the wire in the following order.

Step 5: Crimp the 2pin copper core on the green locker and tighten it.

Step 6: Screw all parts together and connect the water-proof 2pin connecter
to inverter meter port.

/n Green locker \ / \
\_ Black seal ring AN Red seal ring Y,
(4 N N
Locket
Body
Seal body
- J
/o N
Tighten

o RN J

Inverter METER port 1 2 5 4

P (Reserved dry contact) | (Reserved dry contact)
Smart Meter Side 485A | 485B / /

5.3 DCS Installation(WIFI module)

Step 1: Remove the waterproof cover at the communication interface of the
inverter;

Step 2: Insert DCS into the corresponding communication terminal at the
bottom of the inverter and tighten it to ensure it is secure.

5.4 DCS Installation(4G module)

Step 1: Remove the protective cover of DCS and insert the SIM card;

Step 2: Install the waterproof cover of DCS;

Step 3: Remove the waterproof cover at the communication interface of the
inverter;

Step 4: Insert DCS into the corresponding communication terminal at the
bottom of the inverter and tighten it to ensure it is secure.

/ 2\
- J/
/ 2\
- J/

5.5 DCS Installation(WLAN module)

Step 1: Replace the bottom plug of DCS with the WLAN plug.

Step 2: Insert the network cable connector into the network junction.

Step 3: Remove the waterproof cover at the communication interface of the
inverter.

Step 4: Insert DCS into the corresponding communication terminal at the
bottom of the inverter and tighten it to ensure it is secure.

q \/ ] N\

6. LED Indicator
6.1 LED Indicator Status Description

No. Indicator Status

Description

ON Inverter Powered ON
1 POWER
OFF Inverter Powered OFF
ON Grid Normal
2 GRID Blink 1 Grid Abnormal
Blink 2 Grid Disconnected
ON COM. Normal
Blink 1 Meter COM. Fault
3 COM.
Blink 2 COM. Fault With BMS
OFF Fault Both Meter & BMS
OFF Normal
4 ALARM Blink 1 Inverter Internal Alarm
Blink 2 Other Alarm

* 1 time flashing, interval 1.5 seconds; 2 times flashing, interval 0.2 seconds.

7. System Commissioning

7.1 Installing the App

Method 1
Download the "HYXiPOWER
APP" from the app store:

 App Store (10S)
* Google Play

7.2 APP Quick Guide

Method 2
Scan the QR code and
download the APP :

App Download

For more information on using the HYXiPOWER APP, please scan the QR

code.

App Quick Guide

Product information is subject to change without notice.
© 2023 Zhejiang Hyxi Technology Co., Ltd. All rights reserved.

QUICK
INSTALLATION
GUIDE

HYBRID

.
HYXiPOWER
~————

INVERTER

H5K/6K/8K/10K/12K-HT

www.hyxipower.com
support@hyxipower.com

6.2.51.18.00051

QIEN-H12K-HT-Ver1.0-202312



1. Packing List

Inverter

DCS (Essential)

2
2

Meter (optional)

s

Rj45 water-proof
connector*4

METER 4pin
RS485 connector

e
%«7’

PV MC4 metal pin
male*20r3 / female*2or3

LA A
5%

PV MC4 insulated terminal
male*20r3 / female*20r3

BAT port power line
male / female

o=
o>

Back-up port connector

OT terminal

E I8}
M6*15 screw™

M6 expansion screws3
M5*10 grounding screw

N PN
£
i |

Backplane bracket A

Backplane bracket B

DCS need to order separately;
Rj45 water-proof connector*4: 2 for BDU-INV, 1 for DRM, 1 for COM.2;
PV MC4 metal pin male*2 and female*2 for 5/6/8kW hybrid inverter;
PV MC4 metal pin male*3 and female*3 for 10/12kW hybrid inverter.

2. Installation Preparation
2.1 Installation Environment Requirements

2400mm

<60°C

2-30°C

0~100%RH

2300mm 2300,

3. Installing the Inverter
3.1 Hanging Plate Size

320mm

%

468.3mm

2300mm

3.2 Installation Steps

Step 1: Place the wall plate horizontally on the wall, recommend to select the
hole position shown in the picture and mark the drilling position.

Step 2: Drill a hole at the location shown, the depth of the hole is about
70mm.

Step 3: Place the expansion tube and install the wall plate using the expansion
bolt assembly.

Step 4: Secure the mounting plate with M6 screws.

Step 5: Hang the mounting lugs onto the peg plate and tighten them with M6
screws and finally lock them.

7 N [ 2\

\ J
g \
\ J
g \
Jil
J i |
: J

4, Electrical Connection

Model HYX-H5K-HT HYX-H6K-HT HYX-H8K-HT HYX-H10K-HT HYX-H12K-HT

PV cable 4-6mm? 4-6mm’ 4-6mm® 4-6mm? 4-6mm®
AC cable 4-6mm? 4-6mm’ 4-6mm® 4-6mm? 6mm’
Backup cable 4-6mm? 4-6mm? 4-6mm? 4-6mm? 4-6mm?®
BAT cable 4-6mm? 4-6mm’ 4-6mm® 4-6mm’ 4-6mm’
Micro-Breaker 30A 30A 40A 50A 50A

Recommended wire diameter

4.1 Grounding Procedure
The cross-sectional area of the secondary grounding cable must be the same
as the crosssectional area of the PE core in the AC cable.

The secondary grounding cable and terminal block are to be prepared by the
customer.

Step 1: Make the cable and crimp the terminal block.
Step 2: Remove the screws from the grounding terminal and use a screwdriver
to secure the cable.

2-1 2-2

Hot-melt ~ Wiring
sleeves  Terminals

Step 3: Apply silicone or paint to the grounding terminal to improve its
corrosion resistance.

M5

4.2 AC Side Connection

Step1: Prepare all parts for terminals

Step2: Pass cable through gland, sealing and cable stripping.

Step3: Insert the stripped wire into the corresponding pole. Tighten the
screws when the wires are in place.

Step4: Install plug adapter, sealing parts, gland on cable shell

Step5: Tighten the sealing knob.

Stepé: Plug the AC terminal into the inverter AC port and hear the “click”
sound.

Plug{dapter N / N
Cable shell 5
N &l
Sealing 2 //\\ 2
Sealing 1 NN “:
Gland \ @ \ )\
& A 2\ > o
&
LH\N
) 1. Cable diameter: 11-19mm, Mounting
\ Z with sealing 182.
2, Cable dgmeter: 19-26mm, Mounting /
Without seaiing
(o N ® N

Mounting torque:
12-15N'm

4.3 BACK-UP Side Connection

Step 1: Wire Stripping.

Step 2: Set the parts on the cable and crimp wires.

Step 3: Tighten the sealing knob.

Step 4: Mating plug and socket: Push the locker onto the socket housing
completely, then rotate the locker according to the direction instructed by the
marks on the locker.

NOTES
Only apply to multistrand copper wire, length of the earth wire
should be 5mm longer than the live wire and zero wire.

\w Wire gauge: 0.75-6.0mm’*/18~10AWG. 2. Cable OD: 8~18mm. / Crimp wires, screw twisting torque 0.8+/-01N-m /
/ \ Inverter backup port \
Tighten

4.4 PV Side Connection

Step 1: Turn the DC switch to "OFF" manually.

Step 2: Strip off the insulation layer of all DC cables by about 7mm.

Step 3: Use crimping pliers to bundle the cable ends at the wiring terminals.
Step 4: Pass the cable through the cable gland, insert the insulating sleeve
and fasten it. Gently pull the cable to ensure that it is connected and
fastened. Use a force of 2.5~3N-m to tighten the gland and insulating sleeve.
Step 5: Use a multimeter to check and confirm that the polarity of the
photovoltaic string connecting cable is correct.

Step 6: Connect the PV connectors to the corresponding terminals until a click
is heard and seal the vacant DC terminals with MC4 waterproof plugs.

( ) N (@ N
TN
TR
- J )
/ positve ol cimp erminl h / oam )
S AN )
( N (@ .
-
- J )

5. Communication Connection
5.1 Inverter & BDU Communication Connection Steps

Step 1: Install the three accessories of the waterproof terminal (Socket, sealing
ring, nut) on the standard network cable as follows.

Step 2: Screw the Nut to Socket.

Step 3: Connect the water-proof RJ45 cable to Inverter BMS port.



	页 1
	页 2

